normalized X2

[ normalized x? probability |

- Entries| Entries
[ 0.25p 1 EERERERE Rk
107'F
1072 [ Std Dev 0.3937 0.2
F 015
10°F
10"‘;— 0.
10k 0.05
ot o
8 : N g :
4 . I o .
i b Ll R A - -
o 0 2 4 6 8 10 12 14 16 18 20 0 0 010203040506070809 1
2 Prob(x2)
mmmem DQM_NOFit2_step2_ttbar-phasel-newgeom
w—— DQM_Fit2_step2_ttbar-phasel-newgeom
wmmmm DQM_Fit2AndCPEGeneric_step2_ttbar-phasel-newgeom
weses DQM_Fit2AndCPETemplate_step2_ttbar-phasel-newgeom
A
k=i
c
<
=<
v

Ratio

< X2/ ndf >

Ratio

< X2/ ndf >

Ratio

107 1072

1 -1
AR(track, jet?



	Contents
	Page 1


